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' I 45 pts) ABET: The single line diagram of a power s stem is shown in
mgwﬂf_mn;g:aud components are as follows
Gy 40MVA, ~ 11kV, =1).2 p.u.
= 20MVA, 115k, ﬁaﬂzpw ; &N
FOMVA, 33kV, X=0.25pu. : -
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.15 P~ Figure 2 o
Short circuit tests on T, gave the following leakage reactance in p.u. as follows:

| Primary (p) | Secondaty(s) | Tertiary (t) Base \
| 0.1 Shhori circuit {I:paﬁclrmL 60 MVA and 33 kV |
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- issi e is 300km long. The line
. 3 (25 pts): A 60Hz, 3-phase transmission lin

o mmm;m'irnp- L =1.22mH/km, C=.0088uE/km —

(a) Determine A, B, C and D constants of the line _
(b) Determine the parameters of the TT-equivalent circuit of the line.
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5 Problumd[is ): A long 220 k¥ 920 kV transmission line has A=0.93217, B=136482" Q.
b lagging load is ccynected atﬂwremmngmd Use the

1 A 120 MW, 0.8 pf laggin
. a) to calculate the S@ﬂdma &&Vﬂl (ma onitude and ﬂ;‘m
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'wir‘ﬁﬁ'""mpacﬁorbnnkm connected at the receiving end in addition (
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